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Monthly averaged wind velocity by MF radar at Tromsoe for April 2013

North East

mean sigma = 22.780

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 19.773

0    4    8    12    16    20    0
-100

-50

0

50

100

103km

mean sigma = 20.699

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 19.430

0    4    8    12    16    20    0
-100

-50

0

50

100

100km

mean sigma = 20.034

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 18.478

0    4    8    12    16    20    0
-100

-50

0

50

100

97km

mean sigma = 18.859

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 17.439

0    4    8    12    16    20    0
-100

-50

0

50

100

94km

mean sigma = 19.092

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 17.323

0    4    8    12    16    20    0
-100

-50

0

50

100

91km

mean sigma = 17.291

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 16.104

0    4    8    12    16    20    0
-100

-50

0

50

100

88km

mean sigma = 13.434

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 13.506

0    4    8    12    16    20    0
-100

-50

0

50

100

85km



mean sigma = 12.472
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Monthly averaged wind velocity by MF radar at Tromsoe for April 2013

North East

mean sigma = 12.631
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